i
I
T
T
P=ai
I

1. ¥(8%4
kG4 S0 6 FERE - TR BB NSRS
BT T R B HERE AR AT I VA B HERF H AR AT AR 20 /A N

2. ¥HENRE

UNCIESPER S E I B2

1) FH4
2) JEATHIR 231 HIE H 4% 64 5711H
E S 6412H27H

3) WErM

4) EBNE

FEszdmd  H E TR




WA | BN 6 RS - A BE NEHIER A ER WS
H H FEME SR
THH - TR - R 7 # & fH A OBN R
FEE T B 2V 836, 250
FEE ) 2V 836, 250
4 R FENE ) 2V 836, 250 | 4 fRIEUE S
25 =y
KROAKEFR B e L, (ERE £ 20
e P & = 8,795, 315
FH i & = 8,795, 315
(= W 353,335 | {E¥EHH
1 S
B Hh kA
1 ES
BRI A oy 844, 380 | AM%EDELE.
3 Jim2
HEE I R R
3 Jim2
o> % R AR A
3 Jim2
N X% O R GE R X VERK
3 Jim2
BE R oy 3,044,700 | 1850 &
3 Jim2
B S e
3 Jim2
T T SRR R AR
3 Jim2
155 RO = 4,552,900 | HEHRNE
5 Jim2
S e LR
-1- EtAwE o E TR



i
I
T
Tl
P=ai
I

B | A6 FEERER - 8 EBE NI AR ¥ R WEFES
H H Jis )
B E I % i 3 B A7 & & #A A BN R
120 N
B = 1 238, 950
Heim = 1 238, 950
FTaws =X 1 238,950 | 1A
1 A
[ERETES = = 1 174, 848
RS = 1 174, 848
ik A oy 1 49,848 | fic#y (FitE - EEE)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 1 125, 000 %%Eﬁ%%f’?ﬁi%
1 =
(X3 he 2V 1 10, 045, 363
EiEEF g 2V 1 6, 634, 637
SER R = 1 6, 634, 637
WM 2V 1 16, 680, 000

-2 - FEszdmd  H E TR



